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1. % |
N—IREHFTE(HA)
% A
3 B ER2TERE TH28EE
FEHE | Bt FEE | #gak [dEnek
1.t B 7,503,402 30.2 7,659,272 29.5 2.1
2. vl = 5 B 243,700 1.0 240,600 09 A13
3. # F oo oz & % 14,400 0.1 10,400 00 A 278
4 B = 2 % #+ % 27,300 0.1 53,600 0.2 96.3
MR EERS B XM S 116,700 0.5 144,000 06 23.4
6. K K B B X H £ 1,133,900 46 1,311,100 5.0 156
79 00 7 B R A B X H £ 67,400 0.3 70,600 0.3 4.7
8.8 & = I & B X # £ 33,100 0.1 34,300 0.1 36
9 EERUERERETIRNBRZ £ 591,916 2.4 601,018 23 15
n#H 5 #H @ % & £ 43,300 0.2 46,600 0.2 76
11. H 5 % 1+ B 5,169,000 20.9 5,123,000 197 A09
NxBER2ATERENTH L 9,700 0.0 10,300 0.0 6.2
3. # £ R U & # % 205,780 0.8 190,372 07 A75
46 B B B U F #H 584,290 2.4 588,901 23 0.8
15. & 3 H & 4,269,072 17.2 4,612,684 17.7 8.0
16. 3 % H & 1,502,302 6.1 1,837,416 7.1 22.3
17. 8t i3 Iy A 76,881 0.3 21,897 01 A715
18. % B & 509 0.0 507 00 AO04
19. 18 A & 242,665 1.0 456,443 1.8 88.1
20. 42 i & 100,000 0.4 100,000 0.4 0.0
21, 8% Iz A 653,783 26 603,890 23  AT6
22. 1& 2,172,900 8.8 2,281,100 8.8 5.0
% A = B 24,762,000 100.0 25,998,000 100.0 50
% H
3 B TR2TEE TH28EE
FEE | Bk FEE | gk | denEk
1. & = = 204,659 0.8 183,276 0.7 A 104
2. %% 7% & 1,996,665 8.1 1,467,932 57 A 265
3 B o z 8,419,890 33.9 9,234,906 3b.5 9.7
4. 1 o Z 1,553,786 6.3 2,464,453 9.5 58.6
5 % & & 15,109 01 15,906 0.1 53
6. B N 7K B * & 308,127 1.2 392,644 1.5 274
7. 75 T = 286,162 1.2 271,135 1.0 A b3
8. = N & 2,924,012 11.8 3,317,489 12.8 13.5
9. H 3] & 153,100 0.6 134,811 05 A 119
10. % 5 & 2,167,829 8.8 1,955,261 7.5 A 98
1. % = 0] |5 & 100 0.0 20 0.0 A 800
12. & & 2,648,358 10.7 2,471,691 9.5 A 6.7
13. B = & 4.079,203 16.5 4,083,476 15.7 0.1
14. % 1% % 5,000 0.0 5,000 00 00
% & = B 24,762,000 100.0 25,998,000 100.0 50

(BH KT B = BER

(AL FF. %)



2)EN=EHFE(E)

OEERERR
B g TR EE TR 285 &

yEE | #Hk FE%E | #Hk | EER
1. R & & & B B 1,329,392 16.2 1,355,736 165 20
2 & % H & 1,810,028 22.1 1,671,694 203 A 76
3E B K & B X H & 327,908 40 307,247 37 A63
LET OB OB OB OE XA % 1,833,302 223 2,086,068 25.3 13.8
5. & % H & 617,652 75 376,776 46 A 390
6% B T %X %X f % 1,768,931 215 1,824,337 22.2 3.1
7. 4% A & 520,000 6.3 600,000 73 15.4
8. 18 oA & 10 0.0 10 00 00
9.3 i A 6,857 0.1 7.391 0.1 78
5 A & 8,214,080  100.0 8,229,259  100.0 0.2
1. 4 # % 139,311 1.7 134,392 16 A 35
2. {7 bR # f+ % 5,072,448 61.8 5,084,297 61.8 0.2
B BB EXE S 831,025 101 836,250 10.2 0.6
LET B B B E M % 499 00 891 00 78.6
BE N B B B oH 4 41 0.0 31 00 A 244
6. # 1 f & 340,950 4.1 274,134 33 A 196
7#£8 A T %X W OH 4 1,768,537 215 1,829,462 22.2 3.4
8. {% i = ES % 55,769 0.7 64,302 08 15.3
9.3 % H & 5,490 0.1 5,490 0.1 00
10. % 1% % 10 0.0 10 00 00
% H P 8,214,080  100.0 8229259  100.0 0.2
(B K75 50 75 = A B R (BAT:FM. %)

QLB EER

3 g TR EE TR 285 &

FEE | #E FE%E | #Hk | dEiER
Y s Hh EERRBA 669,489 76.9 629,723 747 A 59
2 fE % H & - - 564 0.1 o
3. 18 A & 199,719 22.9 211,137 25.0 57
4 18 4 & 1 0.0 1 00 0.0
5. 5 ijg A 2,002 0.2 2,002 0.2 00
% A & £t 871,211  100.0 843427 1000 A 32
1. 4 % S 39,963 46 41,800 50 46
2 HEEBEERLEEAMMS 829,148 95.2 799,527 948 A 36
3. % 1 % 100 0.0 100 00 00
4 % % H & 2,000 0.2 2,000 0.2 00
% H & 871,211 100.0 843427 1000 A 32

(B BT B =M BER (AL FH. %)



LI 1530
5 g ER2 A E SR 28 B
>EmE | #u >amE | Bk | genEk
TN #Z B B W 949,935 231 961,849 224 13
2 s H 4 883,827 214 929,451 216 5.2
3 & % H & 564,083 13.7 593,862 13.8 53
4. % H x 4 & 1,065,291 259 1,123,906 26.2 55
5. Bt E e A 240 00 526 0.0 119.2
6. & A & 656,166 15.9 688,118 16.0 49
7 4@ # & 1 0.0 1 0.0 0.0
8 % i A 68 0.0 68 0.0 0.0
5 A & 4119611 1000 4297781 1000 43
1.4 % & 167,139 41 165218 38 NEE
2. B O & B 3.774.636 916 3,966,094 923 5.1
3y B X B OE % OB 97,123 24 109.479 26 12.7
LE & B O OI % 79,262 1.9 55,539 13 A 299
5 % % & 1,351 00 1,351 00 0.0
6. % 1 - 100 0.0 100 00 0.0
5 H 2 4119611 1000 4297781 100.0 43
(B AR SRR (Bf7 : TH. %)
@i REEEEY
5 g ER2 A E SR 28 B
>Eam | BB >amE | Bk | sinEk
1. BE X H % 313,200 559 212,100 431 A 323
0. 18 A & 31,374 56 29,661 6.0 A 55
3.7 & 215,500 385 250,800 50.9 16.4
% A & 560074 1000 492561 1000 A 12.1
L+ X B % 1|8 £ £ & 557.773 996 384,064 780 A 31.1
VI = = 2301 04 108.497 220 46152
% H & 560074 1000 492561 1000 A 12.1
(B B SR BEE (B - TH. %)
@A EL )
& g R0 R TR 28EE
T E% | Bk TEHE | #ik | 8EElk
1. 8 = I A 24 0.0 - = B
0. 1 A & 111,547  100.0 57.759 733 A 482
3. & - - 21,000 26.7 e
% A & 111571 100.0 78.759 1000 A 294
T2 2 ® 1 % 24 00 - - v
2.+ #h B B T %X £ - - 21.067 26.7 e
3 N & 5 111,547  100.0 57.692 733 A 483
% H & 111571 100.0 78.759 1000 A 294
(B BRI A= BE (Bfr - TH. %)



OEXREEYINEEE

5 g ERR2 I AR08 &
¥ Eam | Bkt Fam | Bt | dErek
. A #B kX U F #% #H 81, 641 48. 8 82, bho 19. 3 1.1
2. & % H & 139 0.1 139 0.0 0.0
3. Bf )23 ljrg A 18 0.0 201 0.1 1016. 7
4. 2 A & 2,816 1.7 14 0.0 A 99.56
5. ™ Ef 82, 600 49.4 344, 900 80. 6 317.6
= A = £ 167, 214 100. 0 427, 810 100. 0 16h. 8
1.E E ¥ AL 1B T ¥ & 136, 913 81.9 396, 734 92.7 189. 8
2. 15 1 30, 301 18. 1 31,076 7.3 2.6
* H =) £ 167, 214 100. 0 427, 810 100. 0 16h. 8
(BE) BEHR=E R (Bf7 : TH. %)
(3
5 g SRR AR08 &
¥ am | BHkt ¥ EE | Bk | direk
. A #B kX U F #% #H 14, 967 23. 3 17, 409 3b. 3 16. 3
2. Bf )23 ljrg A 32 0.1 295 0.6 821.9
3. & A & 48, 679 /5.8 31,126 63.1 A 36.1
4. A 502 0.8 500 1.0 AO04
I3 A = g 64, 180 100. 0 49, 330 1000 A 23.1
1. B =) 3 = 64, 180 100. 0 49, 330 1000 A 23.1
= H = g 64, 180 100. 0 49, 330 1000 A 23.1
(BH) MRIEERB =R E (Bf7: TH. %)
O HigEY
£ g FR2TEE RS =
¥ a5 | Bk ¥ E 5 | Bk [ daEk
. B # E v F #H H 36, 415 73.6 40, 873 77. 3 12.2
2. 12 A % 13, 086 20. 4 12, 034 22. 7 A 8.0
= = 5 49, 501 100. 0 52,907 100. 0 6.9
1. B =3 5 = E =y 20, b6 41.5 24,003 45. 4 16. 8
2. A 15 & 28, 945 58.5 28 904 546 A 0.1
H 5 49, 501 100. 0 52,907 100. 0 6.9

(BfZ - FFA. %)



3) KEEXRHTE (44D

@ [N AEHIUN X (BiA)
5 g TR EE SEAR2BE
FEHE | #BRk FEHE | Bk | gk
1. & ES X = 1, 540, 822 96. 3 1, 735, 811 96.0 12.7
2. = ES 2o X 58, 985 3.7 73,101 4.0 23.9
X & B 1,599, 807 100. 0 1,808, 912 100. 0 13.1
1. & ES Z A 1, 504, 430 83.4 1,699, 813 92.2 13.0
2. &8 * A & A 77, 668 4.3 51, 551 2.8 A 33.6
3 & bl Ei=| % 220, 436 12. 2 90, 370 4.9 A 59.0
4. ¥ firs & 2,000 0.1 2,000 0.1 0.0
X H = B 1, 804, 534 100. 0 1,843,734 100. 0 2.2
(07 - TH. %)
@ EARWINE (BiA)
5 g TR EE SR8
¥ EE | #BRk FEHE | Bk | dEk
1. 1#© ES & 281, 000 91.8 274, 200 66. 0 A 2.4
2. H & 4 17, 002 56 27, 600 6.6 62. 3
3 & Eicl & 4,731 1.5 113,777 27. 4 2,304.9
4. 1@ 18 3, 421 1.1 0 0.0 =00
X A =) B 306, 154 100. 0 41b, 577 100. 0 356. 7
1. & B x B 480, 348 35.1 728, 984 82.5 51.8
2. & X B #E# E £ 888, 2b6 64. 8 152, 875 17.3 A 82.8
3. F fitg & 2,000 0.1 2,000 0.2 0.0
X H _é 5t 1, 370, 604 100. 0 883, 859 100. 0 A 3b.5
(BEH) KEEREEER (07 - TH. %)
4) TKEFERFFTE (49)
@ [N AF HI U X (BiA)
5 g TR FE AR 2B
¥ EE | B FEHE | #rk | dwEs
1.5 * g i 1, 687, 503 57.0 1,675, 115 57.0 A 0.7
2. = * 4% g = 1, 270, 666 42.9 1, 261, 642 43.0 A 0.7
3 il F) oy 1,193 0.1 10 0.0 A 99.2
X A & it 2,959, 362 100. 0 2,936, 767 100. 0 A 0.8
1.5 ES -y A 2, 465, 973 89. 3 2, 480, 982 90. 3 0.6
2. = * a4 & A 293, 047 10.6 262, 359 9.6 A 10.5
3B Al Ei=| ES 1, 020 0.0 1,010 0.0 A 1.0
4 F fi& & 2,000 0.1 2,000 0.1 0.0
X H = B 2,762, 040 100. 0 2,746, 351 100. 0 A 0.6
(B TH. %)
@ EARWINZ (F3A)
= g TR IEE TREE
FEE | Bk FEHE | #Rr | gk
1. & * & 605, 300 51.7 496, 600 63. 5 A 18.0
2. % Bh & 441, 750 37.7 151, 050 19.3 A 65.8
I = 3 H g % 119, 581 10. 2 128, 785 16.5 7.7
4. B8 # & 292 0.0 1, 254 0.1 329.5
5 & # & 2, 960 0.3 3, 757 0.5 26. 9
6. k ik E M F £ XA 1, 065 0.1 652 0.1 A 38.8
7. % 1 & - - - _ i
I A & 5t 1,170, 948 100. 0 782,098 100. 0 A 33.2
1. & B4 5.’ B & 1, 051, 229 47.4 743, 225 39.1 A 29.3
2 X & @# & £ 1, 163, 652 52. 4 1, 164, 763 60. 7 A 0.8
Ik ® ik B F X & 1, 065 0.0 652 0.0 A 38.8
4. K Pt & 1, 650 0.1 2, 750 0.1 66. 7
5 F% fi& & 2,000 0.1 2,000 0.1 0.0
b3 H =) it 2,219, 596 100. 0 1, 903, 390 100. 0 A 142
TER) KENREEER (AL - FH. %)



2. R =1
D—BESHRE
=% A
5 B FRR25ERE ER26EE
ShoE %8 AL e | Bt
1. 5] 7,591,088 31.0 7,737,154 30.2
2. #b Vil = 5 ) 263,583 1.1 248,889 1.0
3. F| + 2 x fF & 19,116 0.1 15,767 0.1
4. B2 E =2 R £+ & 16,660 0.1 32,766 0.1
SRR X EZEFMSE I XMFE 22,728 0.1 17,467 0.1
6. H B B ® X [ £ 663,242 2.7 811,529 3.2
7.3 00 7 &/ R A X+ & 70,673 0.3 71,102 0.3
8. B & H B B B X f % 66,488 0.3 30,328 0.1
9. EHIZ MBS AR R BB A6 629,634 25 593,302 23
10. b Vil e el BN fF & 49,303 0.2 43,588 0.2
11. th yil B fF T 5502518 224 5,468,603 21.3
NXBEBLZe2XRE N MGFT£ 11,739 0.0 10,376 0.0
3.0 #H € kR U & #H % 140,179 0.6 143,189 0.6
4. A $H kR Ut F #H H 565,218 2.3 565,313 2.2
15. B % H & 4,107,556 16.7 4,462,187 17.4
16. & b-d H & 1,215,136 49 1,228,223 4.8
17. Bf E )7} A 257,414 1.1 136,100 0.5
18. & oy & 14,464 0.1 9,884 0.0
19. #& A & 129,061 0.5 241,799 0.9
20. #& i & 443,417 1.8 606,471 24
21. & N A 556,421 2.3 390,744 15
22. = 2,176,038 8.9 2,760,300 10.8
= A = g 24511676 100.0 25,625,081 100.0
% H
5B SER25EE TR26EE
ShoE %8 L cEE | Bet

1. & = & 188,712 0.8 191,606 0.8
2. %5 % = 1,678,003 7.1 1,684,966 6.7
3. B et & 7,682,690 32.5 8,400,751 33.6
4. & & & 1,145,821 4.8 1,228,417 49
5 % & = 55,316 0.2 43,789 0.2
6. 2 K 7K )3 E = 275,770 1.2 241,556 1.0
7. ™ T & 383,826 1.6 363,876 14
8. X = 3,464,852 14.6 3,143,460 12.6
9.8 93] = 156,179 0.7 614,367 2.5
10. 5 = 2,131,118 9.0 2,260,212 9.0
11. % = 18 IH & 0 0.0 12,332 0.0
12. & = 2,455 384 10.4 2,730,276 10.9
13. B g8 = 4,056,399 17.1 4,097,391 16.4
14. % s & 0 0.0 0 0.0
= H = g 23,674,070 100.0 25,012,999 100.0

(BEH) KRBT 5 =R BGER

(Bhz: T H. %)



2)RBIRETRE

OEERERR
B g LR 2558 & TR 265 &
s EE | #Hn cEE | g

1. R & B & KB B 1,284,569 17.9 1,271,810 175
2. & 53 H o 1671514 23.3 1,796,684 247
3 E & KB f B2 X & & 481,287 6.7 425,088 58
4.5 B B B B X & & 1,928,058 26.8 1,883,514 259
5 & % H & 380,679 5.3 402,359 bhb
6% A =T ¥ X f# % 883,294 123 929,277 1238
7. #& A & 553,992 1.7 561,137 7.7
8. 18 oA % - - - -
9.7 g A 2,989 0.0 6,834 0.1
% A & B 7,186,282 100.0 7,276,703 100.0
1. %8 7% & 137,963 1.9 142,609 19
2. 1% b e} £F & 4,899,642 65.9 5,047,938 65.9
AR e W EXIESE 868,469 11.7 862,376 11.3
45 B B B E WM e E 930 0.0 685 0.0
BE N B B B o#H % 30 0.0 28 00
6. # b £F & 356,790 48 360,619 47
7.H B OF (X W OH £ 865,524 1.6 861,082 11.2
8. & e = * & 46,401 0.6 48,383 0.6
9.3 % H & 87,462 1.2 92,101 1.2
10. % 1#% % - - - -
e & BE & £ ® B € 167,822 2.3 2447752 3.2
% H = 5 7,431,033 100.0 7,660,573 100.0
(B K75 50 B 75 =R B ER (Eh7:FH. %)

QLB EER

5B TRk 254 TR 265 &
s EE | Bk cEE | BRk

TR EmEEERERRBRHE 610,480 79.1 635,819 774
2. %2 A & 158,341 205 181,221 221
3. 18 4 & 1,106 0.2 572 0.1
4. 3% g A 1,661 0.2 3,167 04
% A & =t 771,588 100.0 820,779 100.0
1. %8 % E=y 32,487 42 33,316 4.1
2. B EHmERRLEEAMMNS 737,657 95.7 784,324 95.6
3. % 1 % - - - -
4. 3% % H & 972 0.1 2,606 0.3
% H = 5 771,016 100.0 820,246 100.0

(BRD B HU B =M BER (BAL:FH. %)



ORI

5 g SRR ER26EE
ShEmE | #En B | HBAk
1. # R B& ] 723,140 20.7 757,927 20. 6
2. B H & 764, 468 21.9 798, 880 21.8
3. & % H & 472, 501 13.5 526, 268 14. 3
4. % I HE &£ x fF % 933, 145 26. 7 980, 785 26.7
b. Bf 3 )7y A 76 0.0 93 0.0
6. #% A & 562, 910 16. 1 597, b88 16. 3
7. & i1 & 32, 767 0.9 11, 169 0.3
8. & )7y A 3, 362 0.1 1 0.0
i A = g 3, 492, 369 100. 0 3,672, 711 100.0
1. #8 % = 148, 005 4.3 167, 083 4.6
2. & & i F E=y 3, 208, 189 92.2 3, 346, 799 91.9
M B X B OFE O£ OEB 8b, 021 2.4 90, 121 2.5
4, EH & & hvi & 25, 746 0.7 24, 251 0.7
b. & % & 14, 239 0.4 12, 159 0.3
6. ¥ 1% % - - - -
= H = g 3, 481, 200 100. 0 3, 640, 413 100.0
(B HAFEER BT = B BGE (R : 7M. %)
O iXEREEYE
5 g R 254 S RLO6ZE
S Em | HBik R B4 | HAk
1. B % H & 399, 442 69. 6 215, 205 59 4
2. #& & 6, 271 1.1 20, 479 5.7
3. ™ E 168, 300 29. 3 126, 100 34.8
4. %2 i1 & - - 369 0.1
= A = § 574,013 100.0 362, 153 100. 0
L X & ¥ B F % B h73, b34 100. 0 361, 761 99.9
2. N = =y 109 0.0 392 0.1
4 H = g 573, 643 100.0 362, 153 100. 0
(B RSB EE KR (BA7 © TH. %)
@il EL
X g SRR 25 SRR 064 B
kBB | EEk R EHE | HEE
1. Bt = )7y A 117 0.1 102 0.1
2. & A & 100, 914 99.9 114, 881 99.9
= A = H 101, 031 100.0 114, 983 100. 0
1. & & & ir & 117 0.1 102 0.1
2. N = =% 100, 914 99.9 114, 881 99.9
B 101, 031 100. 0 114, 983 100. 0

(&L TH. %)



OEXREFEYIEEE

5 5 R 26 LR 265 E
e | #Ek e | Bk
1.5 A B &k U F #H H 89,925 76.2 77,610 995
2 & % H & 118 0.1 152 0.2
3. Bt E I A 56 0.0 64 0.1
4. 4 A & 27981 237 - -
5. == % H & - - 192 0.2
= A =) g 118,080 100.0 78,018 100.0
1. E ¥ M 1B F X # 57,600 48.8 47,636 61.1
2. 15 & 60,480 51.2 30,382 389
3 H =) 5 118,080 100.0 78,018 100.0
(BE) BEHRE MR (Bf7 : TH. %)
OxEFE=E:
5 5 SRR 26 LR 265 E
e | #Eb e | Bk
1.5 A B k& U F #H H 24477 26.5 35,090 78.1
2 Bt E i) A 53 0.1 98 0.2
3. #& A & 17,783 19.2 9,763 21.7
4. 1 M & 50,000 542 - -
I A = z 92,313 100.0 44 941 100.0
1.5 = ES £y 74,158 80.3 44 941 100.0
2. 1 % 18,155 19.7 - -
% H & 92313 100.0 44.941 100.0
(BH) MRIEERB S =R E (B TH, %)
[ JadR e
X 5 25 LR 265 E
SR E %8 | #mk SR E %5 | #Bak
1.5 B # kX © F #H ¥ 32,969 72.3 39,242 82.0
2. Bf E v A 6 0.0 - -
3. & A & 12,560 276 8,622 18.0
4. 3 v A 62 0.1 - -
B A & 45597 100.0 47.864 100.0
1. EF =) 5 = S & 17,149 37.6 18,832 39.3
2. 1 = 28448 62.4 29.032 60.7
4 H é_ g 45,597 100.0 47,864 100.0
(BF) FaT5hBl 7% 2= Bf I (B - TH. %)



3) mEME

(BREERRE)
E T i 2 Y ' # £ % BifEEs |HEIC K DHEF
(nf) () (FM) (FFA) FM FM
225 E 4, 423, 480. 75 261, 938. 92 132, 630 5, 145, 290 386, 100 1,807, 039
23 4,535, 206. 72 262, 135. 36 114, 025 5,909, 313 386, 100 1,819, 368
24 4,528, 523. 68 264, 970. 23 108, 030 6, 145, 954 386, 100 1, 829, 487
25 4, 398, 080. 88 249, 203. 33 100, 618 4, 645, 506 386, 100 1,798, 694
26 4,412, 624. 46 255, 856. 47 93, 482 4,729, 387 386, 100 1, 803, 840

(BH) BHHBMBEMEE

(B T %)



4) KEBRRFRE

@ AR (Fiad)
£ 5 I TR26EE

e | #mkt cEE | #Han | aask
1. & % Iy 1,495,934 99.6 1,524,469 941 1.9
2.8 % 5y 5,371 0.4 68,178 4.2 1,169.4
3 % 3 Gl - - 28,282 1.7 s
Iy A & 1,501,305  100.0 1,620,929 100.0 8.0
1. & % & 1,069,357 90.3 1,123,717 741 51
2.8 x5 % 111,229 9.4 107,586 7.1 A 33
3.4 31 ) 3,304 03 286,102 18.8 8,559.3
% H & 1,183,890  100.0 1,517,405 100.0 28.2

(Bfz : 7M. %)

@ EARRINE (FiaA)

£ 5 I TR26EE

s | ik sEmE | #gmk | daiEk
. T = & # 477 1000 7,686 100.0 15113
Iy A & 477 100.0 7,686 100.0 15113
T2 % % B 401,507 67.2 444,067 68.7 106
2. % F O B 195,653 32.8 202,237 31.3 3.4
% H & 597,160  100.0 646,304 100.0 8.2

(BH) KEHRETHER

5) TREFERFRE

CEENED)

@ N FAIIN (Fi5A)
5 5 TR 254 & ERR 26

hEgE | Esk cEm | #mk | eiEr

= 3 Iy 1,603,470 537 1,668,895 56.2 41
2.% % A 1,370,102 459 1,297,749 437 A 53
3. 4% bl I 11,193 0.4 4,624 0.2 A 587
Iy A P 2984765  100.0 29071268 1000 A 05
= * = 2460873 876 2377136 88.7 A 3.4
2% x4 & 332,915 1.8 301,473 11.3 A 94
3. 4% bl ) 16,065 0.6 4472 0.0 A 97.2
% H N 2809853 1000 2679051 100.0 A 47
(B : TH. %)

Q@ EAXRINE (F431)

2 A TR EE ER6EE

s EmE | ik kB | BRk | miaEk
T & 3 & 641,100 50.1 568,100 489 A 114
2. % Bh & 484,473 37.9 443,167 38.2 A 85
3 & H OH & % 144,928 1.3 143583 12.4 A 09
4. & & 3,052 0.2 5,003 0.4 63.9
5. 4 1A & 2,135 0.2 1,341 0.1 A 372
6T = & # % 433 0.1 - - B
7.k %k b B fF F £ I A 9 0.0 130 0.0 1,344.4
8. % 1% % 2,930 0.2 - - o
I A & =t 1,279,060 1000 1.161.324 100.0 A 92
T8 &% o B = 1172,740 515 1.044675 479 A 109
2 % OB OB B % 1,101,417 48 4 1,134,430 52.1 3.0
3.k ¥ b B f# = % & 9 0.0 130 0.0 1344.4
4. 3K ey % 2,322 0.1 - - e
% H & =t 2276488 1000 2179.235 1000 A 43
(BF) Kamme s Eg (B0 - 7. %)



3.7 W &

1) Zl2bH - EFSARBTH
(BFEED)
BA () EAN - FE ()
F E JERER () &% ()
Gil%) GikA B2 GikA
K224 2 1 9 1 2 34, 685, 736
23 2 2 9 - 6 4, 625, 567
24 3 3 7 1 4 13,910, 000
25 4 4 8 1 9 13, 801, 985
26 3 2 6 1 22 8, 844, 372
(BH) RBHMB=MEHR
2) FtEDER
(26 EH)
& D FER ¥ () &% (M)
o 34 8, 844, 372
FEIOKYES 17 3,657, 000
FETESR 9 1,700, 000
A ERES 2 1,500, 000
KeEFETEDTEL I YESR 1 100, 000
FOEERESR 2 60, 000
EEFERRERES 1 1, 000, 000
FREEESE 2 827, 372

(BH) RBHMB=MER
F) THBFEFRIZHENOH o EA. HE. FAREAE L ZGHHKRUVEEE,

3) FELOHXETHEXA DTN

(BEED)

BA () EA - HE ()
F E &% (M)

Gl GiEA Gl GikA

K224 E 2 - 5 - 427, 438

23 1 - 6 - 460, 000

24 - - 8 - 469, 090

25 3 - 8 - 662, 000

26 1 - 6 - 1, 040, 000

(BH) MFER 7= BGER



